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1. oo ke we Teg g Sfensr : 1x5=5

Choose the correct answer of the following :

(@) TR W TR 9w / few /
fagTs / «bre 927 |
In gymnosperms, the endosperm is
haploid / diploid / triploid / None of
these.

(b) o I8 GRY FRRS T / 19 / M /
qoI8 T |

Phylloclade is a modification of root /
stem / leaf / None of these.
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(2)

(c) =R Ow RIfe  oedREm &R
AN [/ cAes [ 9%/ R-TER
B2 | s

The most highly evolved type of
inflorescence is hypanthodium / spadix /
capitulum / polychasial cyme.

(d) @R FoH_TIE WF FWIHT @Ctsl @l
TS @ @ Ao e/
SPSSRE] / FARSTeR / SPRCIed] (PRI = |

Maturation of stamens and pistils at

different times in the same flower is

called dichogamy / heterostyly [/
— dichotomy / heterospory.

(G RReet  (Roxames)  dfews SRR
TR / BHAeE [/ STz / T FEEN |

The process of double fertilization (triple
fusion) was discovered ‘by Nawaschin /
Strasburger / Leeuwenhoek //
Hofmeister.

2. 5 o ol (R @lean sifeR) - 4x4=16

Write short notes on (any four) :

(a) BRI F'EERT o
Coralloid root of Cycas

(b) GE'TH

Function of trichomes
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(3)

(c) @ & F%
MGU (Male Germ Unit)

(d) RIHAR @FF 9o
Structure of anther wall

(e) J-RENERA
Self-incompatibility

() SFES T
Parthenocarpy

3. GRrY 0] AfFACO! Seenl 41 | 7 QP SRS
T @R Q@ = 2 10+3=13

Discuss the process of fossilization. Why are
the fossil genera called as ‘form genera’?

<1/ Or
o & WMgre Mo @& e i fog?
TS BPTR SATCeD] 597 | 10+3=13

.In what aspect, Gnetum is more closer to
angiosperm? Discuss with suitable diagrams.

4. ARG R Trmaer Rfen cvmy wfwe

TARTPPIR SCA 37 | 10+3=13

What is an inflorescence? Give an account of
various Racemose inflorescence with
example.
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9%4€1/ Or

o frRers Rge (O o7 : 6%x2=13

_ Write explanatory notes on the following :
(@) S ROPRE &4FH
Types of placentation
(b) SPRIETA

Apomixis

5. 3 AR R AW A SfEOIR ST 1
CIPEPTYR I 91 | 2l 197 T AIafcaIsl 379
TS GFG WA 2 10+3=13
Describe the different contrivances or

mechanisms to perform cross-pollination.
Why does nature prefer cross-pollination?

<1/ Or

s R e & 3@ 2 59 e wRaN
Ror afem ToR® TaRIPR I T 1 ST
e o Sk 41 |  2+8+3=13
What do you mean by megasporogenesis?
Describe the development of tetrasporic type

of embryo sacs with suitable examples. Draw
diagram wherever necessary.
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